TOULSEN  u-ioncorpLEssDRILL 12v | 79213

No. | Part Description | Qty No. | Part Description | Qty
1 Right Housing 1 28 Bearing 1
2 Screw,M3.5X15-L 8 29 O-ring 1
3 Spring strip 2 30 Spring strip 1
4 | Variable speed knob 1 31 Gear box 1
5 Spring strip 1 32 pin, @4.5X9.0 6
6 F/R Lever 1 33 Shaft lock seat 1
7 Transparent Cover 1 34 Pin, ®4.3x6.2 3
8 switch ASS'Y 1 35 Sun gear disk 1
9 contact plate 1 36 Ring gear-3rd 1
10 Screw,M3X6 2 37 planetary gear-3rd 3
11 Clamp Plate 1 38 Flat washer 1
12 Torsion ring 1 39 Pin,®3x35.6 2
13 Internal thread 1 40 Frong gear box 1
14 Spring 6 41 Sun gear-2nd 1
15 Spring strip 1 42 Planet gear-2nd 4
16 Bracket 1 43 Sun gear-1st 1
17 Impact of cup 1 44 Ring gear-1st 1
18 Impact cup holder 1 45 Planetary gear-1st 3
19 Screw, M5X25-L 1 46 Flat washer 1
20 Chuck 1 47 Screw, M3X6 2
21 Output shaft 1 48 Motor bracket 1
22 Bearing 1 49 Motor gear 1
23 Plate 1 50 Motor 1
24 Impact gear 1 51 | Damping rubber boot| 1
25 Impact spring 1 52 Left Housing 1
26 Impact end teeth 1 53 Battery 1
27 Clamp Plate 1 54 Charger 1




LI-ION CORDLESS DRILL 12V | 79213

TOLSEN

ASSEMBLY DIAGRAM




